Contents lists available at ScienceDirect

Building and Environment

journal homepage: http://www.elsevier.com/locate/buildenv

Influence of material choice, renovation rate, and electricity grid to achieve a Paris Agreement-compatible building stock: A Portuguese case study

Verena Göswein^{a,b,*}, José Dinis Silvestre^b, Cláudia Sousa Monteiro^c, Guillaume Habert^a, Fausto Freire^d, Francesco Pittau^{a,e}

^a Chair of Sustainable Construction, Institute of Construction and Infrastructure Management, ETH Zurich, Stefano-Franscini-Platz 5, 8093 Zurich, Switzerland

^b CERIS, Instituto Superior Técnico, Universidade de Lisboa, Av. Rovisco Pais 1, 1049-001, Lisbon, Portugal

^c ADENE, Agência para a Energia, Avenida 5 de Outubro 208 2° Piso, 1050-065, Lisbon, Portugal

^d University of Coimbra, ADAI, Department of Mechanical Engineering, Rua Luís Reis Santos, Pólo II, 3030-788 Coimbra, Portugal

e Politecnico di Milano, Department of Architecture, Built Environment and Construction Engineering (ABC), Via G. Ponzio 31, 20133, Milan, Italy

ARTICLE INFO

Keywords: Straw Timber Cork Dynamic LCA Bottom-up Renovation

ABSTRACT

The thermal retrofit of buildings plays a key role to limit global warming. However, the spatial and temporal dynamics of urban-scale renovation are not well understood. This paper proposes a new methodology that is based on a bottom-up building stock model. It links dynamic Material Flow Analysis with dynamic Life Cycle Assessment to include the temporal dynamics of emissions and renovation activity, and the spatial dynamics of the building stock. Alternative renovation scenarios for a Lisbon neighborhood are analyzed over the next 100 years. Thee scenarios include renovation rates, electricity grid transformation and material choice: Conventional renovation systems are compared to bio-based systems (using cork, wood and straw). A need-based prioritization of poorly insulated buildings is suggested and the effect of different energy grid transitions analyzed. The results show that bio-based systems, especially made with fast-rotation biomass, are beneficial regarding radiative forcing. The straw- and wood-based system ("TES"), combined with an increased renovation rate, result in a cumulative radiative forcing of -45.4×10^{-8} kW/m² for embodied impacts in 2050, compared to $3.5^* 10^{-8}$ kW/m² with a conventional system and a business-as-usual renovation rate. A fast and radical transition of the energy grid is crucial to meet the carbon budget to limit global warming to 2 °C.

1. Introduction

The Paris Agreement from 2015 [1] was an international recognition of climate change and created an urgency to limit global warming, if possible to 1.5 °C, or as of 2019, more realistically to 2 °C [2]. After years of debating, governments are finally taking action: the European Green Deal, decided upon in 2019, sets the ambitious goal of attaining carbon neutrality by 2050 [3]. Since currently circa 75% of the European building stock is estimated to be energy-inefficient [4], buildings are said to play a key role in achieving this goal. Additionally, there is a growing trend of people working from home, which is accelerated by the global Corona health crisis [5]. This trend intensifies the need for energy efficient residential buildings (hereafter referred to as dwellings). While the global population is rapidly increasing, population growth in Europe is stagnating [6]. Therefore, renovation of dwellings, instead of new construction, is destined to become the main driver of building stock adaptation in Europe [7,8].

Even though the opportunity for renovating buildings seems to be challenging and complex, some scholars warn of the lock-in effect [9] and that any renovation needs to be ambitious, otherwise more emissions will be emitted for a relatively small improvement of energy efficiency. Moreover, coordinated and strategic actions are required for a radical transformation of building stocks [10]. However, there is no clear consensus on what "ambitious" renovation is, and which "strategic actions" for building stock transformation actually have climate mitigating leverage. Building passports, for example, want to promote deep renovation. However, there is a lack of a common definition across EU countries for this certification scheme [11].

While until some years ago, policy and research focused on the impacts arising during the operation of a building [12], it was shown that embodied impacts, related to the production and construction processes,

https://doi.org/10.1016/j.buildenv.2021.107773

Received 8 September 2020; Received in revised form 5 February 2021; Accepted 27 February 2021 Available online 5 March 2021

0360-1323/© 2021 The Authors. Published by Elsevier Ltd. This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0/).





^{*} Corresponding author. Chair of Sustainable Construction, Institute of Construction and Infrastructure Management, ETH Zurich, Stefano-Franscini-Platz 5, 8093 Zurich, Switzerland.

E-mail address: goeswein@ibi.baug.ethz.ch (V. Göswein).

Abbrevia	ations
BAU	Business as usual
	Dunamic Life Cycle Assessment
E	End of Life
EUL	End of Life
EPS	Expanded Polystyrene
ETICS	External Insulation Composite System
FU	Functional unit
GHG	Greenhouse Gas
GIS	Geoinformation system
GWI _{inst}	Instantaneous radiative forcing
GWI _{cum}	Cumulative radiative forcing
GWP	Global Warming Potential
GWP _{dvn}	relative life cycle cumulative impact over the
,	cumulative impact of a 1 kg CO ₂ pulse emission at time
	zero
ICB	Insulation Cork Board
LC	Life Cycle
LCA	Life Cycle Assessment
LCI	Life Cycle Inventory
MFA	Material Flow Analysis
SI	Supplementary Information
TES	Timber based element system with different options for
	thermal insulation (in this paper:straw) for improving energy efficiency of the building envelope

are increasing in relative terms over the life cycle since an increased energy efficiency of buildings reduces the operational impacts [13], and in total terms in new and advanced residential construction [14]. Therefore, the choice of insulation material and renovation system seems crucial. One of the suggested possible "strategic actions" that is related to materials is the use of carbon capture and storage technologies [15]: by using bio-based materials in buildings, carbon is temporarily stored, which at the end of life of the building or construction product is released as CO₂ back to the atmosphere. Bio-based insulation materials provide a similar thermal performance to conventional materials. Assuming a sustainable supply of biomass, the biomass used in construction is regenerated in new plants, again sequestering carbon in the natural system. Therefore, the biogenic carbon cycle is usually considered neutral. However, Levasseur et al. [16,17] showed that the carbon cycle is in fact not neutral. They promoted the use of Dynamic Life Cycle Assessment (DLCA) to account for the timing of carbon uptake and Greenhouse Gas (GHG) emissions for an accurate analysis of impact results, which is especially important for bio-based products and systems. This was confirmed by the recent review of DLCA studies by Beloin-Saint-Pierre et al. [18]. Moreover, Levasseur et al. [16] developed the DynCO2 calculation tool [19], which provides results for instantaneous radiative forcing (GWIinst) and cumulative radiative forcing (GWI_{cum}) in W/m^2 . The latter measures long-term effects on the terrestrial radiative equilibrium [8] whose imbalance changes global temperatures [20]. Additionally, the relative impact expressed in CO₂ eq. (GWP_{dvn}) is calculated, which refers to the Life Cycle (LC) cumulative impact over the cumulative impact of a 1 kg CO₂ pulse emission at time zero. In this way, the results are transformed into the same units as used by conventional LCA through Global Warming Potential (GWP), but considering the timing of the emissions [19]. When considering the timing of emissions and carbon uptake, the supposition that carbon-neutral is equal to climate-neutral needs to be questioned [21]. Only when the carbon uptake of regenerated biomass in nature, which is induced by the use of biomass in construction, fully compensates the embodied (and the operational impacts) in terms of GWI_{cum}, then the building (stock) is climate-neutral [22].

Pittau et al. [22] analyzed bio-based wall systems with DLCA for a

functional unit (FU) of 1 m² of wall during 60 years lifetime. The authors found that specifically fast-growing materials like hemp or straw, thanks to their fast rotation periods, could decrease the carbon footprint of buildings. The same authors followed up with a study [8] of the future renovation of the European dwelling stock to analyze the potential of extensively storing carbon in external walls. In accordance with EN 15804:2012 [23], they considered the Life Cycle (LC) product stage (A1-A5), the replacement of renovation elements (B4), the end of life (EoL) (C1-C4), and the carbon uptake related to the use of biomass, while the operational energy use (B6) was neglected. By applying DLCA, they found that straw is particularly sensitive to the EoL scenario but can lead to net negative cumulative radiative forcing after only three years. Pittau et al. [8] analyzed bio-based retrofit of the EU housing stock with DLCA and employed a top-down building stock model based on statistical data for different geoclusters. This model led to generalized results across geoclusters. For an improved material choice, the urban scale can be recommended and the dynamics of renovation could be better captured with a bottom-up model [24]. García-Pérez et al. [25], for example, used a bottom-up building stock model of Barcelona based on geoinformation systems (GIS) to compare different thermal insulation materials, including insulation cork board (ICB). By georeferencing, their results could be traced back to the individual building [26]. They used conventional (static) LCA and found that there are significant differences between different types of buildings and urban morphologies.

There is a lack of studies of building stock renovation that include the temporal dynamics of emissions and the spatial dynamics of the building stock. Only when considering these dynamics, the potential of achieving climate neutrality can be estimated. Moreover, the dissection of dynamic inputs allows a better understanding of their leverage for the reduction of impacts to comply with the 2 °C target of the Paris agreement, and therefore to define informed strategies.

2. Research question

The research question of this paper is as follows: How do different dynamics, such as (bio-based) material choice, annual renovation rate, building stock characteristics and energy supply, contribute to reduce emissions of urban-scale renovation? More specifically, considering the different dynamics, which challenges need to be overcome to achieve a climate neutral building stocks by 2050?

For this purpose, a new methodology is proposed that links dynamic LCA and dynamic material flow analysis (MFA) with a bottom-up archetype-based approach.

3. Method

3.1. Linking dynamic LCA and MFA

A hybrid methodology is proposed, which is presented in Fig. 1. It entails, firstly, a MFA to estimate the renovation-induced material requirements over time. For the building inventory, the actual building footprints are collected from Monteiro's [27] geodatabase that categorize buildings into archetypes. The total external façade area to be renovated was calculated in GIS considering the actual perimeter of the building's footprint multiplied with the height of the assigned archetype, and subtracting walls with neighboring buildings. The window to wall ratio was considered. The definition of archetypes includes information on the average number of floors and building height, window-to-wall ratio, annual electricity consumption for heating and cooling, and U-values of exterior walls. The substitution of windows is not considered in this study. Monteiro [27] considered the existence of shops on the ground floor in residential buildings by removing outliers from the electricity consumption. Different systems of external thermal insulation are analyzed. Depending on the system and the final U-value after renovation, different material requirements are obtained. Combining the external façade areas of buildings, divided by archetype,



Fig. 1. Framework of the model.

with the different material requirements of retrofit systems and different yearly renovation rates, the material flows per type of material are provided, which subsequently allows analyzing the impacts of renovation over time.

Simultaneously, direct impacts from operational energy use for heating and cooling are calculated per year, considering the pre- and post-renovation thermal performance of buildings. The floor area which needs to be heated/cooled is obtained through GIS. Due to the scale of the case study and the renovation over time, there are two possibilities on how to account for impacts from the operational energy use (LC stage B6): firstly, only for the renovated buildings and secondly, for all buildings (renovated and non-renovated). The first seems more intuitive while the second makes more sense when analyzing the performance of the whole area, especially when looking at the carbon budget. Both possibilities will be discussed. Since this paper analyzes the renovation of external façade area but operational energy use is based on heated/ cooled floor area, a coefficient referring to the relation between floor area and external façade area per archetype is used to convert façade into floor area and to calculate B6 impacts. These values can be found in Supplementary Information (SI) I.

Secondly, the material flows and energy needs are translated into an emission inventory, as well as into a carbon uptake inventory for the biobased materials. For the emission inventory, the material quantities and operational energy needs are linked with emission coefficients for the greenhouse gases (GHG) CO_2 , CH_4 , N_2O , and CO. Fossil emissions, biogenic emissions, and land transformation emissions are considered. Different potential transitions of the energy grid are used to model the temporal dynamics of impacts related to operational energy demand. For the carbon uptake inventory, the type and amount of biomass used in the different renovation technologies is translated into the corresponding regenerated biomass in nature to guarantee a consistent supply. Species-specific rotation periods and carbon coefficients are considered. The sequestered carbon is expressed in CO_2 (1 kg of C equals 3.67 kg of CO_2).

Thirdly, the results from the impact and carbon uptake inventory are used to calculate the dynamic inventory result that considers the timing of GHG emissions and biogenic carbon uptake. For this purpose, the $DynCO_2$ calculation tool [19] is used.

3.2. Case study

3.2.1. Dwelling stock under study

The SusCity area in Lisbon is chosen as a case study area. SusCity has been the testbed of various other research projects that want to promote sustainable urban transitions [28-32]. Therefore, an increased detail of data is available for this specific area. Moreover, since it refers to an agglomeration of neighborhoods (Olivais Velho, Encarnação, Olivais North and South, and Parque das Nacões) that were constructed during different time periods, it represents different characteristics of an urban building stock at a relatively small scale. SusCity is located in the northeast of Portugal's capital Lisbon. Only dwellings (i.e. residential buildings) are included in the analysis. The characterization of the SusCity's dwelling stock into archetypes is taken from Monteiro et al. [27,32]. These authors obtained the current annual electricity consumption per archetype through a parametric energy model. A Lisbon survey revealed that 69% of households use electric systems for space heating (10% air conditioning units and 59% radiators), 22% natural gas systems (boiler), and 9% have no heating systems [27]. Table 1 shows the location of the SusCity area and details the eight different archetypes used. Their division is based on construction period and size class (single or multi-family). Buildings that were built between 1920 and 1945 account for less than 1% in the SusCity area and were therefore neglected. For this study, the archetypes are ranked by their current U-value, from the worst (highest) to the best (lowest) U-value. Buildings that are ranked worst are to be renovated first. In this way, a need-based

renovation-strategy of buildings is analyzed.

3.2.2. Life cycle stages

This paper focuses on the thermal retrofit of existing buildings and considers the relevant Life Cycle (LC) stages: Replacement (B4), Refurbishment (B5) and Operational energy (B6), according to EN 15804:2012 [23]. A time span of 100 years is chosen, therefore including 2050 and 2100, which are milestones for climate mitigation. A sensitivity analysis of the time horizon, comparing results during 100 years with 200 years, can be found in SI II. During 100 years various renovation cycles occur. More specifically, the following LC stages are encountered during 100 years: the production and installation of the system, the replacement of the coating, the EoL of the original system and the production and installation of its substitution. Therefore, an adapted subdivision of LC stages, as presented in Table 2, was employed. The numbering of subdivisions does not mirror the occurrence of the described events in time, for example, here, B4 Replacement of coating occurs only after B5 Production and installation of renovation system. However, the definition of LC modules (B4, B5, B6) was kept to be able to categorize the impacts in accordance with EN 15804:2012 [23]. Later, Table 4 details the adapted subdivision of LC stages over time. The European standard does not instruct in which LC stage to account for benefits from carbon uptake of regrowing plants. We decided to account for it in module B5 Refurbishment, under an assigned subdivision, since it is the use of bio-based material in the construction technology for retrofit that causes the required regrowth of biomass. The FU of this study is 1 m² of retrofitted wall during 100 years with the target U-value of 0.15 W/m^2 K. This target is used to define the amount of additional thermal insulation per archetype and is associated to the yearly energy consumption of 12 $\bar{k}Wh/m^{2*}year$ for heating, and 12 $kWh/m^{2*}year$ for cooling. The correlation between U-value and energy use for heating and cooling after retrofit is also based on Monteiro [27]. It is assumed that a comfortable indoor temperature can be guaranteed with 24

Table 1

Overview of the case study and description of archetypes based on Monteiro [27] and Monteiro et al.[32]



Archetype ID	R1_SF	R2	R3_SF	R3_MF	R4_SF	R4_MF	R5_SF	R5_MF	R6_MF
Construction period	before 1919	1920–1945	1946–1960	1946–1960	1961–1990	1961–1990	1991–2005	1991-2005	2006–2011
Size class	single family	-	single family	multi family	single family	multi family	single family	multi family	multi family
Share archetype	1%	0%	3%	1%	3%	38%	1%	47%	6%
U-value exterior walls [W/(m ² K)]	2.38	-	2.38	1.01	1.89	0.96	1.02	0.63	0.56
Annual electricity consumption [kWh/m ²]	57.2	-	46.9	36.4	44.5	36.2	43.8	34.3	34.5
Number of floors	1	-	2	4	2	6	2	8	7
Window to wall ratio	10%	-	8%	19%	8%	27%	8%	31%	29%

Table 2

Adapted description of LC stages as used in the present study.

LC stage	Name (EN 15804)	Adapted Subdivision	Subdivision description		
B4	Replacement	B4 Replacement of coating	Production, installation and EoL of mortar and finishing (every 30 years)		
B5	Refurbishment	B5 Production and installation of the retrofit system	Production and installation of the retrofit system including all parts and materials (for initial retrofit)		
		B5 Carbon uptake in nature	Carbon sequestration of plants (for initial and repeated retrofit)		
		B5 EoL of the whole retrofit system	Decommissioning, transport to waste processing, waste processing, disposal (for initial and repeated retrofit)		
		B5 Replacement of the whole retrofit system	Production and installation of the retrofit system including all parts and materials (for repeated retrofit every 60 years)		
B6	Operational energy use	B6 Operational energy use	Operational energy use for heating and cooling		

kWh/m²*year. The Portuguese Passivhaus Association [33,34] suggests a maximum 15 kWh/m²*year each for heating and cooling.

Potential summer overheating due to a high level of insulation is not studied here. Only additional external thermal insulation for the vertical area of the building envelope is considered. The common other components of deep renovation (replacement of the heat generator and the installation of complementary system components such as distribution pipes, installation of PV panels, and the replacement of windows) are not considered for the calculation of impacts but can be generally recommended to guarantee comfortable indoor temperatures at low energy consumption levels. Moreover, the present study is limited by the assumption that during the next 100 years buildings will be renovated instead of demolished and substituted through new buildings. It should be noted that licensed (partial and total) demolition works corresponded to 7.2% in 2019, and 7.7% in 2018, of total licensed construction works

Table 3

Materials inventory for the studied retrofit sys
--

in Portugal [35]. In Lisbon, circa 300 buildings were demolished between 2007 and 2017 [36].

3.2.3. Thermal insulation system for external walls

A conventional scenario and two bio-based systems for external thermal retrofit are analyzed:

- A combination of external thermal insulation composite systems (ETICS) made with expanded polystyrene (EPS) and with stonewool represent the conventional scenario. It is assumed that ETICS with EPS accounts for 91% and ETICS with stonewool for 9% based on the market share of insulation materials in Southern Europe [37];
- "TES" is a prefabricated timber-based element system, developed by an ERA-NET funded research consortium to improve the energy efficiency of the building envelope [38]. It can be combined with different types of thermal insulation material. The present study analyzes injected wheat straw as thermal insulation. TES is directly mounted to the existing exterior wall. It does not require any preconditioning of the wall thanks to straw that is blown into the gap between the wall and the TES system to level out any irregularities. For this study, the system was adapted for the Portuguese context, using injected straw as insulation;
- ETICS with insulation cork board (ICB). ICB is a natural thermal insulation also known as expanded cork agglomerate [39]. Cork is generally harvested every 9 years from the cork oak's bark [40]. In Europe, cork oak savannahs are mainly predominant in Portugal, Spain, Italy and France, covering about 1.5 Mio ha land [41]. The raw material cork faces high inter-sectoral competition because it is predominantly used to produce bottle cork stoppers. Therefore, a large-scale application of ICB in construction is unlikely. However, ICB serves well as a local material solution for the renovation of SusCity.

The construction technologies for retrofit under study are described in Table 3. Incineration is defined as the waste treatment for all biobased components of the system, which can be considered a worst case scenario because it releases the stored biogenic carbon as CO_2 back to the atmosphere at the EoL. If despite the incineration of biomass, the

Name	Layers		Thickness	Density	Thermal conductivity	Weight	Life span	Waste treatment
			mm	kg/m ³	W/(m*K)	kg/m ²	years	
TES	1	Mineral coating	20	565	0.820	11.30	30	Inert landfill
	2	Straw	var	105	0.043	var	60	Incineration
	3	Stud/Beam (timber)	n.a.	700	0.120	17.38	60	Incineration
	4	OSB	4	650	0.130	2.60	60	Incineration
	5	Straw	45	105	0.043	4.73	60	Incineration
ETICS with ICB	1	Mineral coating	20	565	0.820	11.30	30	Inert landfill
	2	Metallic screws	n.a.	n.a.	n.a.	0.01	60	Recycling
	3	Plastic dowels/fixings	n.a.	n.a.	n.a.	0.08	60	Recycling
	4	Glass fiber mesh	20	n.a.	n.a.	0.14	60	Inert landfill
	5	Metallic profile	n.a.	n.a.	n.a.	0.19	60	Recycling
	6	ICB	var	110	0.040	var	60	Incineration
ETICS with EPS	1	Mineral coating	20	565	0.820	11.30	30	Inert landfill
	2	Metallic screws	n.a.	n.a.	n.a.	0.01	60	Recycling
	3	Plastic dowels/fixings	n.a.	n.a.	n.a.	0.08	60	Recycling
	4	Glass fiber mesh	20	n.a.	n.a.	0.14	60	Inert landfill
	5	Metallic profile	n.a.	n.a.	n.a.	0.19	60	Recycling
	6	EPS	var	30	0.036	var	60	Incineration
ETICS with stonewool	1	Mineral coating	20	565	0.820	11.30	30	Inert landfill
	2	Metallic screws	n.a.	n.a.	n.a.	0.01	60	Recycling
	3	Plastic dowels/fixings	n.a.	n.a.	n.a.	0.08	60	Recycling
	4	Glass fiber mesh	20	n.a.	n.a.	0.14	60	Inert landfill
	5	Metallic profile	n.a.	n.a.	n.a.	0.19	60	Recycling
	6	Stonewool	var	30	0.037	var	60	Inert landfill

Note to Table 3: Conventional ETICS is described in section 3.2.3. "var" refers to a variable thickness of insulation depending on the archetype as described in 3.2.2. "n. a." refers to different measurements that cannot be expressed in thickness per m².

Table 4

Overview of emission and uptake inventory for 1 m² of refurbished façade and visualization of the considered life cycle stages during the first 100 years. Data taken from Refs. [8,39,54–58].



TES				
biogenic carbon storage [kg CO ₂]	-114.90	0.00	-114.90	0.00
kg CO ₂	13.44	3.65	80.22	3.65
kg CH ₄	2.50E-02	1.51E-02	2.60E-02	1.51E-02
kg N ₂ O	3.60E-03	9.19E-05	3.62E-03	9.19E-05
kg CO	3.92E-02	9.43E-03	4.18E-02	9.43E-03
ETICS with ICB				
biogenic carbon storage [kg CO ₂]	-69.10	0.00	0.00	-69.10
kg CO ₂	9.32	3.66	44.00	3.66
kg CH ₄	3.23E-02	1.51E-02	3.06E-02	1.51E-02
kg N ₂ O	4.29E-04	9.21E-05	4.34E-04	9.21E-05
kg CO	6.73E-02	9.46E-03	6.17E-02	9.46E-03
Conventional ETICS				
kg CO ₂	6.92	3.66	6.83	3.66
kg CH ₄	2.44E-02	1.51E-02	2.25E-02	1.51E-02
kg N ₂ O	2.75E-04	9.20E-05	2.85E-04	9.20E-05
kg CO	2.80E-02	9.45E-03	2.20E-02	9.45E-03

bio-based retrofit systems are advantageous compared to conventional systems then the advantage can only increase with an improved waste treatment. For a detailed analysis of waste treatment categories of bio-based construction please refer to Pittau et al. [8,22] who identified recycling as the most efficient waste treatment to reduce the EoL impacts for systems with a high amount of bio-based material. This is in line with cascading of biomass, which refers to the use of the same material unit in multiple, successive product cycles [42,43].

A common concern of bio-based construction is increased fire hazard. For the studied systems in this paper it should be noted that:

- The TES developers propose specific design guidelines to prevent fire from spreading in buildings, including the construction of fire stops around windows, between stories and vertical elements [38];
- ICB produced by the Portuguese manufacturers Amorim [44] and Sofalca [45] have a fire resistance of Euroclass E, which is in line with other common insulation products like EPS and PUR. This means that they should only be used safely behind a thermal screen (e.g. gypsum plasterboard, mineral coating) [46].

Wheat and consequently straw has short rotation periods of one year or less. In contrast, trees take decades to grow. It is assumed that the plants sequester carbon at a constant rate during their growth. In reality, carbon sequestration is a complex process that depends on the species and on the speed of growth [47], also it is, in fact, non-linear [48]. Modeling it linearly overestimates the carbon sequestration potential of biomass, with longer rotation periods resulting in higher overestimations.

The following rotation periods were considered as a reference:

- · 1 year for wheat straw;
- · 75 years for pine wood [49];

• 9 years for cork oak bark [50];

Table 4 visualizes the LC stages, which were listed in Table 2, and shows the moment in time when they are considered. Table 4 also shows the emission inventory for CO_2 , CH_4 , N_2O , and CO for 1 m² of renovated façade for the three studied retrofit systems. The data sources for Table 4 can be found in SI III. The production and installation of the renovation system occurs at time 0 (B5). This is also when the carbon of the biobased components is moved into the building and stored there (B4). The following values were assumed for the carbon content of biomass:

- \cdot 0.40 C/kg biomass for wheat straw [51].
- · 0.50 kg C/kg_{biomass} for pine wood [52].
- \cdot 0.55 C/kg biomass for cork oak bark [53].

The replacement of the coating as a maintenance measure occurs after 30 years (B4). At time t = 60 the original retrofit system reaches its EoL (B5) and needs to be replaced with a new system (B5), that is assumed to have the exact same characteristics as the original one. After another 30 years, at time t = 90, the coating is replaced again.

3.2.4. Scenario analysis for renovation rates and energy grid transitions

Two scenarios for the renovation rates and three scenarios for the transition of the energy grid are analyzed. More specifically, a business as usual (BAU) annual renovation rate of 0.4%, based on past renovation rates [59], is defined. The BAU rate is compared to an increased rate of 3.3% that would allow for the whole SusCity dwelling stock to be renovated by 2050. This ambitious goal is in line with a proposed 3% renovation rate across Europe to achieve a climate neutral building stock by 2050 [11,60].

For the possible transition of the energy grid, the status quo is compared with two scenarios that reduce the emissions per consumed kWh of electricity to 1% in 2050 compared to today's values. The underlying assumption is that by 2050 a major transition to renewable energy sources, which should mostly be concentrated on solar power, off-shore and on-shore wind, and hydropower, will be completed in Portugal. This is in line with the Portuguese Carbon Neutrality Roadmap (RNC) for 2050 [61]. The scenario is based on the Transition Pathway Explorer, an online model developed during a Horizon2020 project [62]. Specifically, the "ambitious" pathway for Portugal is selected. It needs to be noted that policy-makers often propose an increased share of (only) two-thirds for renewable energy in 2050 [63]. The possible transition pathways until 2050 to reduce to 1% of present emission intensity is modeled as a convex curve (decreasing exponential function) and as a concave curve (decreasing quadratic function). The parameters of the two curves were adjusted (i.e. -0.0099 for the exponential function, and -0.000104705 for the quadratic function) to reflect the reduction to 1%.

4. Results

4.1. Impacts for the retrofit of $1 m^2$

The exemplary CO_2 inventory for 1 m² of refurbished façade for archetype R1_SF over a 100 year period is shown in Fig. 2. The values are taken from the inventory in Table 4 that shows the collected data for all alternatives. The conventional ETICS scenario (91% EPS and 9% stonewool) refers to lightweight systems, therefore resulting in a comparably lower CO₂ inventory (17.4 kg of CO₂ for LC stages B4 and B5). The heavier systems made with cork or with timber and straw result in 57.0 kg of CO₂ (ETICS with ICB) and in 97.3 kg of CO₂ (TES) for LC stages B4 and B5 excluding B5 carbon storage. However, for the biobased components -69.1 kg of CO₂ storage for ETICS with ICB, and -114.9 kg of CO₂ storage for TES, need to be added. Since TES does not only include biomass in the insulation layer (straw) but also wood for the frame, its carbon storage potential is higher than for ETICS with ICB, which only uses biomass in the insulation layer. This adds up to a total for LC stages B4 and B5 of -12.1 kg of CO₂ for ETICS with ICB and -17.6 kg of CO₂ for TES. As expected, LC stage B5 (EoL of the system) causes high impacts for TES and ETICS with ICB due to the incineration of biomass.

Fig. 3 compares the three different renovation systems for the three types of outputs obtained with $DynCO_2$ [19]. On the left, GWI_{inst} is illustrated. For the bio-based systems, the instantaneous radiative forcing becomes negative after 1 year thanks to the regrowth of biomass in nature. Initially, the curve for TES drops faster than the one for ETICS with ICB since straw is a fast-rotation crop that recovers the stored carbon in nature within one year, while the bark of the cork oak takes 9 years to regrow. However, after the 9 years are reached the impacts start to rise for ETICS with ICB, while for TES they keep on growing in negative values thanks to the longer rotation period of wood in nature, which is used for the TES frame. After 30 years, in 2050, the coating layer is replaced leading to a small increase in impacts. After 60 years, in 2080, the system reaches its EoL, adding the impacts related to the EoL and the production and installation of a new system into the building. Since TES includes more biomass than ETICS with ICB, the assumed EoL scenario with incineration of biomass leads to a total higher impact for TES than for ETICS with ICB. However, after another 5 years, in 2085, the radiative forcing of ETICS with ICB already falls below the conventional ETICS. TES takes until 2088 to fall below the conventional ETICS. This is again related to the different rotation periods of the biomass. In the middle, Fig. 3 shows GWIcum. The cumulative radiative forcing for the conventional ETICS can only increase over time, with a sharp increase of impact related to B5 End of Life and B5 Replacement of the retrofit system. TES has the highest negative GWI_{cum} at all times. This also translates to GWP_{dvn}, as shown on the right of Fig. 3. In the critical year 2050, the GWP_{dyn} of 1 m² renovated façade, in kg of CO₂ eq., is -21.1 for TES, -18.8 for ETICS with ICB and 8.8 for conventional ETICS.

4.2. Impacts for the external retrofit of the SusCity area

In this section, the impacts at the urban scale are presented. Fig. 4 compares the GWI_{inst}, GWI_{cum} and GWP_{dyn} for the three different renovation system considering two renovation rates for LC stages B4 and B5. It becomes clear that bio-based renovation offers the opportunity to become climate positive (negative GWI_{cum}), while the reference case (BAU rate and conventional ETICS) leads to 3.5×10^{-8} kW/m² in 2050 and 21.7×10^{-8} kW/m² in 2100. Moreover, the differences between the BAU rate and the increased rate of 3.3%, is significant. For example for GWI_{cum} for TES: in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased renovation rate results in -45.4×10^{-8} kW/m² in 2050 the increased



Fig. 2. CO_2 emission and uptake inventory for 1 m² of refurbished R1_SF façade during the first 100 years.



Fig. 3. Instantaneous impact (left), cumulative impact (middle), and dynamic GWP (right) of 1 m² of R1_SF façade that is installed in the building in 2020 for the LC stages B4 and B5.



Fig. 4. Instantaneous impact (left), Cumulative impact (middle), and dynamic GWP (right) of the renovation (LC stages B4 and B5) of the SusCity area.

 10^{-8} kW/m² and the BAU rate in -6.1×10^{-8} kW/m², meaning a 7.5 higher (negative) value. In 2100 it is still 4.5 times bigger. Because of the species rotation periods, ETICS with ICB only becomes climate positive (GWI_{cum} negative) after 2029, while TES only takes one year to become negative. Both, urban-scale renovation with TES and with ETICS with ICB, result in negative impacts in 2050 and 2100, while conventional ETICS are always positive and increasing. ETICS with ICB has a lower GWI_{inst} starting from 2096. Yet, in cumulative terms (GWI_{cum}), TES is the lowest in 2050 and in 2100. The results for GWP_{dyn} are similar and can be seen on the right of Fig. 4. All values are presented in SI IV.

The bottom-up building stock model allows dissecting the results by archetype. The contribution of each archetype to the GWP at 100 years calculated with DLCA (GWP_{dyn,100}) for the whole SusCity dwelling stock is shown in Fig. 5. The BAU rate of 0.4% does not allow all buildings to be renovated until 2050. Due to the prioritization of archetypes by retrofit need, the older buildings with highest U-values, i.e. the single-family archetypes R1_SF, R3_SF and R4_SF are renovated first. Out of these three, R3_SF has the highest archetype share. Therefore, for the BAU renovation rate the archetype that contributes the most to the GWP_{dyn,100} in 2050 and in 2100 is R3_SF. The increased renovation activity of 3.3%, which enables all dwellings in the SusCity area to be renovated until 2050, leads to absolute higher values of GWP_{dyn,100}. For this higher annual renovation rate, the archetype that contributes the most to the GWP_{dyn,100} of LC stages B4 and B5 in 2050 and in 2100, is the

multi-family R4_MF. The total impact of the older single-family archetypes (R1_SF, R3_SF, R4_SF) is the same for both renovation rates. However, the relative impact of these archetypes decreases with the increased renovation rate of 3.3%, which allows for more buildings to be renovated. Since the multi-family buildings (especially R4_MF and R5_MF) represent a bigger archetype share, their renovation also leads to an absolute higher impact.

As was shown in Fig. 4, TES is the most promising renovation system, meaning it has the highest negative impacts in terms of GWI_{cum} and GWP_{dyn} for the LC stages B4 and B5. However, to get the complete picture and to answer the question if renovation can lead to a climate neutral dwelling stock, we need to consider also the impacts from LC stage B6. Table 5 shows the impacts for TES for the LC stages B4 and B5, as well as for B6. Buildings after renovation are assumed to require 15 kWh/m2 for annual space heating and cooling. Table 5 lists the impacts for the two possibilities on how to account for B6 impacts: only for the renovated buildings or for all buildings (renovated and non-renovated). The B6 impacts for the BAU renovation rate are lower than for the 3.3% rate, when only accounting for renovated buildings, since less buildings are renovated and therefore considered with the BAU rate. When considering all buildings then the 3.3% rate translates to a total reduced amount of heating and cooling. Depending on the accounting method for B6, the embodied impacts (B4 and B5) can only relate to 0.2% of the total operational and embodied impacts (B4+B5+B6), meaning the



Fig. 5. Contribution of archetypes to GWP_{dyn,100} for the LC stages B4 and B5. Comparison of the different retrofit systems and renovation rates under study for the years 2050 and 2100.

Table 5

GWI _{cum} for the SusCity renovation with TES,	comparing impacts related to LO
stages B4 and B5, with B6 only for renovated	and for all buildings.

		2050	2100
BAU renovationrate	B4+B5 [W.m ⁻²]	-6.1E- 08	-4.3E- 07
	B6 only for renovated buildings [W.m ⁻²]	2.7E-07	4.5E-06
	Total GWI _{cum} [W.m ⁻²]	2.1E-07	4.1E-06
	(B4+B5)/Total GWI _{cum}	18.6%	8.8%
	B4+B5 [W.m ⁻²]	-6.1E-	-4.3E-
		08	07
	B6 for all buildings [W.m ⁻²]	2.5E-05	1.2E-04
	Total GWI _{cum} [W.m ⁻²]	2.5E-05	1.2E-04
	(B4+B5)/Total GWI _{cum}	0.2%	0.3%
Increased renovation	B4+B5 [W.m ⁻²]	-4.5E-	-2.0E-
rate		07	06
	B6 only for renovated buildings [W.m ⁻²]	3.9E-06	4.4E-05
	Total GWI _{cum} [W.m ⁻²]	3.4E-06	4.2E-05
	(B4+B5)/Total GWI _{cum}	10.5%	4.2%
	B4+B5 [W.m ⁻²]	-4.5E-	-2.0E-
		07	06
	B6 for all buildings [W.m ⁻²]	1.9E-05	8.2E-05
	Total GWI _{cum} [W.m ⁻²]	1.9E-05	8.0E-05
	(B4+B5)/Total GWI _{cum}	2.3%	2.3%

choice of material seems negligible. However, when only looking at the impacts of renovated buildings then the embodied impacts (B4+B5) can account for up to 18.6%. GWI_{cum} for the LC stages B4 and B5 for TES is always negative. However, the total impacts (B4+B5+B6) are always positive, no matter the renovation rate and consideration of renovated and non-renovated buildings, meaning it seems impossible to turn the SusCity dwelling stock climate neutral.

5. Discussion

5.1. Putting the results into context

The only study that we found to be directly comparable to this one is by Pittau et al. [8], which analyzed retrofit of the EU dwelling stock with different bio-based materials. As in this paper, Pittau et al. [8] employed a dynamic LCA based on Levasseur et al. [16]. Specifically, their "STR" system, which is an I-joist frame with pressed straw (with their EoL scenario DS2 and without accounting for module D), is comparable to TES as studied here. We extracted data for Portugal that is provided in the supplementary data of Pittau et al. [8], and further scaled it down, using the number of inhabitants, to the size of SusCity. The chosen time frame for comparison is 100 years from the start of analysis. In this study, -5.8 * $10^{-7}~\text{W/m}^2$ for GWI_{cum} and -6.4 *10^3 tons CO_2 eq. for GWP_{dyn} were obtained for 2120 with a BAU renovation rate. The scaled down values from Pittau et al. [8], are $-2.7 * W/m^2$ for GWI_{cum} and $-3.02*10^3$ tons CO₂ eq. for GWP_{dyn} for the same time horizon. The difference, between this study and Pittau et al.'s [8], can be justified as follows: here, the BAU renovation rate refers to 0.4%, while Pittau et al. [8] assumed 0.1%. Moreover, in TES the straw is in-blown while in the "STR" system pressed straw was used, which results in slightly different impacts of manufacturing the renovation systems.

In addition, the following studies are worth mentioning to get a better understanding of methodological differences:

Zieger et al. [64] presented a dynamic LCA from cradle-to-grave of a bio-based wall made with timber and straw. In contrast to this study, their analyzed wall was load-bearing and the authors chose a FU of 1 m² with a U-value of 0.137 W/m²K. Their straw layer had a thickness of 370 mm. Their results range from -9.8 to -22.2 kg of CO₂ eq. per 1 m². To put this in relation with the present study: as presented in Fig. 2, for the retrofit of 1 m² of the archetype R1_SF with TES (referring to 145 mm of insulation straw layer), the total CO₂ emission and uptake inventory is -17.59 kg of CO₂ eq. This is in range with the values obtained by Zieger et al. [64]. However, as stated, the two studies vary both in methodological aspects, as well as in choice of studied wall system.

Negishi et al. [65] studied a timber frame with a dynamic LCA for the FU of three single attached buildings with a total floor area of 414 m^2 houses during 50 years. Besides the different system and FU, their study differed from this one since the authors accounted for carbon uptake before construction, meaning they considered that the trees grow before the use of the harvested wood product. In contrast, this study considers that trees (and other sources of biomass) grow after harvesting. Hoxha et al. [66] explains these different dynamic approaches in more detail. A comparison between results, therefore, seems pointless.

García-Pérez et al. [25] studied external thermal retrofit with ETICS

with ICB of different building types in Barcelona by conducting a static LCA from cradle-to-gate of 1 m². For buildings that were built before 1981 they obtained +15 kg of CO₂ eq. per m², accounting for the carbon capture in a static way according to a -1/+1 approach [66]. In this study, we obtained -12.12 kg of CO₂ eq. for the renovation of 1 m² of archetype R1_SF with ETICS with ICB. The difference in results between the two studies can be explained by García-Pérez et al.'s [25] disregard of the timing of carbon uptake and GHG emissions.

5.2. Understanding the dynamics of urban scale renovation to define strategic actions

The following subsections discuss the important dynamic parameters of the present analysis i) material choice; ii) annual renovation rate; iii) dwelling stock characteristics and the need-based prioritization of renovation, and iv) energy supply for space heating and cooling.

5.2.1. Choosing renovation systems with a high amount of (fast-growing) biomass

Three different external thermal insulation composite systems for building walls were analyzed. Two of them use bio-based components, namely TES, and ETICS with ICB. The third one was a combined scenario of two ETICS systems made with EPS and stonewool to represent the conventional solution for thermal retrofit in Portugal. Accounting for the impacts and carbon uptake during LC stages B4 and B5, it was shown at two scales, namely for the declared unit of 1 m² of retrofitted external wall, and for the SusCity dwelling stock, that using bio-based materials allows going climate-positive by reaching negative radiative forcing (GWI_{cum}). The TES system allowed for the highest negative values thanks to the use of biomass, not only in the insulation layer, namely straw, but also timber in the frame. Moreover, TES allowed for almost immediate negative radiative forcing since straw is a fast-rotation crop. Therefore, bio-based renovation systems are advantageous compared to conventional systems regarding embodied impacts thanks to the carbon uptake of regenerated biomass. Moreover, using wood for the structural part of the system provides additional opportunities of carbon uptake in nature, and the shorter the rotation period of the biomass the faster the carbon uptake. Yet, the total impacts of LC stages B4, B5 and B6 showed that a climate neutral dwelling stock cannot be achieved by only renovating external façades, not even with an increased renovation rate that allows renovating all dwellings until 2050 and not even when using the bio-based system TES. Also, it should be noted that there are concerns regarding the land availability and feasibility of large-scale construction and renovation with timber, as discussed in Pomponi et al. [67].

Furthermore, it should be noted that the fixed time horizon of 100 years leads to temporal cut-offs and to the question of inter-generational equality due to the carbon emissions of the biomass at the EoL [18,68]. For this purpose, we extended the time horizon of the analysis to 200 years. The results of this sensitivity analysis can be found in SI II. They show that using bio-based materials now, during the energy grid transition, provides benefits over a long time.

5.2.2. Increasing the annual renovation rate

It seems crucial to stimulate the current low renovation rate of 0.4% annually because only if a building is actually renovated, it allows to store carbon in the renovation system and to reduce the operational energy use for heating and cooling thanks to the improved thermal performance. It was shown that for TES, the increased renovation rate of 3.3%, which allows for all SusCity dwellings to be renovated until 2050, results in a 7.5 times higher negative GWI_{cum} in 2050 than with the BAU renovation rate.

The European think-tank BPIE recently released an analysis highlighting the opportunity of renovating the European building stock to mitigate climate change and to recover from the economic damage of the COVID-19 pandemic [69]. They suggest scaling up serial renovation of buildings, relying on prefabricated building modules, which allow accelerated cost-effective renovation and bypassing the problem of lacking a trained workforce [69]. This argument also favors TES, since it is a prefabricated system. In Germany for example, the national agency for energy is currently supporting a three-year pilot project, joining forces with industry partners, to promote serial renovation [70].

5.2.3. Considering building stock characteristics for prioritized building renovation

For the analysis, buildings with higher improvement potential of Uvalue were prioritized. In fact, a prioritized renovation of poorly insulated buildings is currently under discussion for the Portuguese longterm strategy for building renovation [71]. An additional sensitivity analysis provides insight into the importance of a "prioritized strategy", compared to normal renovation activities where, on average, equal shares of building types are renovated every year ("no strategy"). Fig. 6 compares these two scenarios for renovation with TES, assuming a BAU annual renovation rate of 0.4%, which means that 12% of the total SusCity dwelling stock can be renovated until 2050. On the left of Fig. 6, it is shown that without a strategy, 12% of each archetype will be renovated until 2050, while, with the prioritized strategy, the renovation of the archetypes with the highest ranked U-values (R1 SF, R3 SF, R4 SF) can be completed until 2050, the renovation of R5 SF started, and the renovation of the remaining archetypes is postponed to after 2050. The benefits from the prioritized strategy are twofold. Firstly, it allows for more carbon uptake until 2050 thanks to the preferred installation of renovation systems with a thicker insulation layer of biomass. This means that the total impacts and carbon uptake for LC stages B4 and B5 until 2050, as shown in the middle of Fig. 6, are -1.46* 10^3 tons CO₂ eq. without a strategy vs. -1.79×10^3 tons CO₂ eq. with the prioritized strategy. Secondly, it reduces the amount of total energy needed for heating and cooling and, therefore, LC stage B6 impacts, because the higher improvement potential of poorly-insulated buildings is tapped earlier in time. The right part of Fig. 6 compares the impacts related to LC stage B6: 100% refers to the impacts that are encountered without a strategy. For the archetypes R1_SF and R3_SF, impacts related to LC stage B6 are smaller (i.e. < 100%) with a prioritized strategy because most of those buildings are renovated earlier in time. For R4_SF there is almost no difference between no strategy and a prioritized strategy. This is because, even though without a strategy only 12% of this archetype can be renovated until 2050, the earlier renovation of these buildings leads to earlier savings of energy expenses and therefore, levels out the complete renovation of all R4_SF buildings in the prioritized strategy, which only starts in 2035 (refer to SI V). For the remaining archetypes R5_SF, R3_MF, R4_MF, R5_MF, R6_MF, "no strategy" leads to a slightly reduced GWP_{dvn} of LC stage B6 because at least 12% of these archetypes can be renovated and their renovation starts already in 2020, while with a prioritized strategy their renovation gets delayed. In total, GWP_{dyn} of LC stage B6 is 3% smaller with a prioritized strategy than without. Therefore, considering that the impacts from LC stage B6 outweigh the impacts from LC stages B4 and B5, as was shown in Table 5, the prioritization of buildings renovation only offers a small savings potential of total LC stages impacts B4, B5 and B6 (4%) for the case study SusCity. That is because, in SusCity, the poorly thermal insulated single-family buildings account only for a small share of the stock and the difference in terms of U-values of the remaining multi-family buildings is small. However, in other places, with a higher variety of buildings' thermal characteristics and a bigger share of poorly performing buildings, incentivizing building owners of buildings with low thermal performance could result in significant decreased total impacts of building stock renovation (for the total of LC stages B4, B5 and B6).

A prioritization strategy would require programmed incentives so that owners of buildings with a low thermal performance are encouraged to renovate sooner than later. Various instruments to incentivize exist [72], for example: financial support (grants, tax relief, or loans) to provide a cost-effective intervention [58]; risk reduction (public loan V. Göswein et al.



Fig. 6. Sensitivity analysis of renovation strategies until 2050.

guarantees, enabling project aggregation, or renovation of real estate portfolios); and the removal of legal barriers (acceleration of permit procedure). This range could allow targeting different types of building owners. Since the definition of archetypes used in this study refer to the type of dwelling (single-family or multi-family), as well as to size class, an additional socio-economic analysis could identify types of owners.

5.2.4. The importance of a fast energy grid transition

The global carbon budget, to keep global warming by 2050 below 2 °C, was approximately 800 Gtons in 2015 [73,74]. This value is rapidly shrinking and in 2020 only about 660 Gtons remain [75]. According to the International Energy Agency, the construction industry accounts for 11% of global energy-related emissions and indirect emissions from residential energy use for heating and cooling for another 11% [76]. The global carbon budget can be scaled down using different indicators (usually population or GDP) [62]. Portugal's population is 10.3 Mio [77] and the number of residents in the SusCity area is 33'659 [27]. Renovation accounted for 25.3% of licensed construction works in Portugal in 2018 [59]. Considering these values, the downscaled carbon budget of the SusCity area until 2050 for renovation, as well as for heating and cooling of all buildings, amounts to roughly 397 * 10^3 tons of CO₂. Fig. 7 plots the carbon budget in comparison to the impacts related to LC stages B4, B5 and B6, which arise from the renovation of

SusCity dwellings with TES (the most promising bio-based system studied here) and a prioritized strategy in which poorly thermal insulated buildings are renovated first. Additionally, the figure includes three different scenarios for the transition of the energy grid until 2050: the first scenario refers to no transition of the current energy grid, which was used until now to calculate impacts related to LC stage B6. The second and third scenario refer to two possible transition pathways to reduce to 1% of present emission intensity, modeled as a convex curve and as a concave curve, respectively. ETICS with ICB and conventional ETICS, produce very similar results to the ones shown in Fig. 7 for TES, since they all have the same U-value after renovation and since the impacts from LC stage B6 dominate the total impacts during the total studied time horizon. The results for all studied renovation systems, total and divided by LC stage, can be found in SI IV. The figure shows that, in direct comparison (for the same energy grid scenario), an increased renovation rate, compared to the BAU rate, allows to reduce impacts but not enough to stay within the 2 °C budget of SusCity. Therefore, neither the type of renovation system, nor the renovation rate, but the emission intensity of energy is the decisive factor. To be more precise, not only a radical transition to 1% of current emission intensity per kWh needs to be achieved until 2050, but also this transition needs to happen sooner rather than later, which becomes apparent when comparing the convex with the concave transition scenario. Only



Fig. 7. Comparison of energy grid transition scenarios for GWP_{dyn} for the LC stages B4, B5 and B6 for the renovation of SusCity using the TES technology and a prioritized renovation strategy.

the convex energy grid scenario allows staying within the 2 °C budget of SusCity. This also implies that the remaining 2 °C budget will be needed for the energy transition. There is nothing left for building renovation. This emphasizes the need for carbon neutral and carbon negative materials, i.e. bio-based materials.

5.3. Limitations of the study

It needs to be noted that the present study is limited by the following aspects, which should be improved in future research:

- Only additional external thermal insulation for walls is analyzed. The other important components of deep renovation are not considered. Moreover, external thermal insulation is easier to apply but changes the appearance of external façades, which can be an obstacle when renovating historic buildings. For such buildings, an internal insulation is the only option but reduces the wall's hygrothermal performance. Claude et al. [78] found that bio-based insulation enables a better hygrothermal performance than other conventional materials. Therefore, even for internal insulation, bio-based materials are a promising material choice;
- This study excludes an economic analysis. Future research should analyze the financial feasibility and potential barriers of adapting non-conventional material solutions for energy retrofitting and achieving the suggested ambitious renovation rate of 3.3%;
- This study excludes dynamic thermal simulations, which can provide important insights into the different performance of bio-based materials and should be further studied. Fu et al. [79], for example, examined the thermal performance and hygrothermal behavior and found that ICB, in comparison to pine boards, can absorb more heat. Moreover, they found that the overall moisture content of a building with ICB is lower.
- Only the 2159 dwellings out of the 3259 buildings in SusCity were considered. The difficulty in obtaining data for non-residential buildings is the reason why they were not included in this analysis;
- Every dwelling was assigned to an archetype meaning that some buildings could vary significantly from the assumed generalizations;
- No sensitivity analysis for LC stage B6 was performed. Yet, Silvestre et al. [58] showed that different scenarios (e.g. lower occupation, home office) can significantly impact the operational energy needs;
- The downscaling of the global carbon budget to building renovation of SusCity is highly uncertain because of the small scale of the SusCity case study. Moreover, only external thermal insulation and operational energy use is studied but no designated carbon budget for these activities exist. In addition, some argue that using economic power instead of population size enables a fairer distribution of the total budget [62].

6. Conclusions

A novel methodology was proposed and tested for an urban area in Lisbon, coupling dynamic MFA with DLCA, to analyze the thermal retrofit of dwellings. In this way, the strengths of a bottom-up building stock model were combined with the accuracy of a DLCA that considers the timing of emissions and biogenic carbon uptake. Therefore, it allows defining renovation strategies considering the dynamics of urban-scale renovation and the interaction with the natural system. The bottomup building stock model allows to group similar buildings and to identify those with the highest needs. However, the significance of such a prioritization strategy is dependent on the current performance of buildings with a higher varying and older building stock likely benefitting more from such a strategy.

Moreover, this study confirmed that:

- bio-based renovation systems offer the additional benefit of carbon uptake compared to conventional systems and they allow to reduce the total impacts arising during LC stages B4 and B5;
- the more biomass, the better (TES uses straw as insulation and timber for the structure and was therefore more beneficial than ETICS with ICB that only uses cork as insulation);
- the use of biomass from fast-growing plants is better suited for climate change mitigation until 2050 than slow-growing materials (straw allows to achieve a negative GWP faster than cork), but in the long-term (200 years horizon) the differences between fast- and slow-growing biomaterials level out.

Finally yet importantly, an analysis at the urban scale, in contrast to the building scale, provides a more accurate view of the relation between embodied and operational energy because it considers already renovated and non-renovated buildings. It can be recommended to consider the age and constitution of a building stock when formulating renovation strategies, meaning to prioritize the renovation of poorly thermal insulated buildings. A scenario analysis of the emission intensity of supplied energy suggests that only a fast and drastic transition of the energy grid could enable to comply with a carbon budget that keeps global warming below 2 $^{\circ}$ C.

Declaration of competing interest

The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

Acknowledgements

The authors acknowledge the support of the CERIS and IN+ research centers, Instituto Superior Técnico, Universidade de Lisboa to this research. Moreover, we would like to thank FCT (Fundação para a Ciência e a Tecnologia) for supporting this work through the PD/BD/127854/2016 scholarship and through the SusCity grant MITP-TB/CS/0026/2013 of the MIT-Portugal program.

Appendix A. Supplementary data

Supplementary data to this article can be found online at https://doi.org/10.1016/j.buildenv.2021.107773.

References

- UNFCCC, The Paris agreement. https://unfccc.int/files/essential_background /convention/application/pdf/english_paris_agreement.pdf, 2015.
- [2] UNEP, Emissions Gap Report, United Nations Environment Programme, Nairobi, Kenya, 2019. https://wedocs.unep.org/bitstream/handle/20.500.11822/30 797/EGR2019.pdf?sequence=1&isAllowed=y. (Accessed 30 June 2020).
- [3] EC, The European Green Deal, European Commission, 2019. https://eur-lex.europ a.eu/resource.html?uri=cellar:b828d165-1c22-11ea-8c1f-01aa75ed71a1.0002.02 /DOC_1&format=PDF. (Accessed 30 March 2020).
- [4] European Commission, Energy Efficiency in Buildings, European Commission -Department: Energy, Brussels, 2020. https://ec.europa.eu/info/sites/info/ files/energy_climate_change_environment/events/documents/in_focus_energy_effic iency in buildings en.pdf, (Accessed 30 June 2020).
- [5] B. Boland, A. De Smet, R. Palter, A. Sanghvi, Reimagining the Office and Work Life after COVID-19, McKinsey & Company, 2020. https://www.mckinsey. com/business-functions/organization/our-insights/reimagining-the-office-andwork-life-after-covid-19. (Accessed 30 June 2020).
- [6] H. Plecher, Total Population of the EU Member States in 2019 and 2050, 2020. Statista, https://www.statista.com/statistics/253383/total-population-of-the -eu-member-states-by-country/. (Accessed 30 June 2020).
- [7] N. Heeren, S. Hellweg, Tracking construction material over space and time: prospective and geo-referenced modeling of building stocks and construction material flows, J. Ind. Ecol. 23 (2019) 253–267, https://doi.org/10.1111/ jiec.12739.
- [8] F. Pittau, G. Lumia, N. Heeren, G. Iannaccone, G. Habert, Retrofit as a carbon sink: the carbon storage potentials of the EU housing stock, J. Clean. Prod. 214 (2019) 365–376, https://doi.org/10.1016/J.JCLEPRO.2018.12.304.

- J.L. Reyna, M.V. Chester, The growth of urban building stock: unintended lock-in and embedded environmental effects, J. Ind. Ecol. 19 (2015) 524–537, https://doi. org/10.1111/jiec.12211.
- [10] D. Ürge-Vorsatz, C. Rosenzweig, R.J. Dawson, R. Sanchez Rodriguez, X. Bai, A. S. Barau, K.C. Seto, S. Dhakal, Locking in positive climate responses in cities, Nat. Clim. Change 8 (2018) 174–177, https://doi.org/10.1038/s41558-018-0100-6.
- [11] M.M. Sesana, M. Rivallain, G. Salvalai, Overview of the available knowledge for the data model definition of a building renovation passport for non-residential buildings: the ALDREN project experience, Sustainability 12 (2020) 642, https:// doi.org/10.3390/su12020642.
- [12] F. Pomponi, C. De Wolf, A. Moncaster (Eds.), Embodied Carbon in Buildings: Measurement, Management, and Mitigation, Springer International Publishing, 2018, https://doi.org/10.1007/978-3-319-72796-7.
- [13] T.F. Kristjansdottir, N. Heeren, I. Andresen, H. Brattebø, Comparative emission analysis of low-energy and zero-emission buildings, Build. Res. Inf. 46 (2018) 367–382, https://doi.org/10.1080/09613218.2017.1305690.
- [14] M. Röck, M.R.M. Saade, M. Balouktsi, F.N. Rasmussen, H. Birgisdottir, R. Frischknecht, G. Habert, T. Lützkendorf, A. Passer, Embodied GHG emissions of buildings – the hidden challenge for effective climate change mitigation, Appl. Energy 258 (2020), 114107, https://doi.org/10.1016/j.apenergy.2019.114107.
- [15] J. Rockström, O. Gaffney, J. Rogelj, M. Meinshausen, N. Nakicenovic, H. J. Schellnhuber, A roadmap for rapid decarbonization, Science 355 (2017) 1269–1271, https://doi.org/10.1126/science.aah3443.
- [16] A. Levasseur, P. Lesage, M. Margni, L. Deschênes, R. Samson, Considering time in LCA: dynamic LCA and its application to global warming impact assessments, Environ. Sci. Technol. 44 (2010) 3169–3174, https://doi.org/10.1021/es9030003.
- [17] M. Head, P. Bernier, A. Levasseur, R. Beauregard, M. Margni, Forestry carbon budget models to improve biogenic carbon accounting in life cycle assessment, J. Clean. Prod. 213 (2019) 289–299, https://doi.org/10.1016/j. jclepro.2018.12.122.
- [18] D. Beloin-Saint-Pierre, A. Albers, A. Hélias, L. Tiruta-Barna, P. Fantke, A. Levasseur, E. Benetto, A. Benoist, P. Collet, Addressing temporal considerations in life cycle assessment, Sci. Total Environ. 743 (2020), 140700, https://doi.org/ 10.1016/j.scitotenv.2020.140700.
- [19] A. Levasseur, New Generation Carbon Footprinting, CIRAIG, 2010. https://ciraig. org/index.php/project/dynco2-dynamic-carbon-footprinter/. (Accessed 25 January 2021).
- [20] Intergovernmental Panel on Climate Change, in: Observations Atmosphere and Surface (Ed.), Climate Change 2013 – the Physical Science Basis: Working Group I Contribution to the Fifth Assessment Report of the Intergovernmental Panel on Climate Change, Cambridge University Press, Cambridge, 2014, pp. 159–254, https://doi.org/10.1017/CB09781107415324.008.
- [21] T.D. Searchinger, S.P. Hamburg, J. Melillo, W. Chameides, P. Havlik, D. M. Kammen, G.E. Likens, R.N. Lubowski, M. Obersteiner, M. Oppenheimer, G. P. Robertson, W.H. Schlesinger, G.D. Tilman, Fixing a critical climate accounting error, Science 326 (2009) 527–528, https://doi.org/10.1126/science.1178797.
- [22] F. Pittau, F. Krause, G. Lumia, G. Habert, Fast-growing bio-based materials as an opportunity for storing carbon in exterior walls, Build. Environ. 129 (2018) 117–129, https://doi.org/10.1016/J.BUILDENV.2017.12.006.
 [23] /TC 350 CEN. EN 15804 Sustainability of Construction Works Environmental
- [23] /TC 350 CEN, EN 15804 Sustainability of Construction Works Environmental Product Declarations – Core Rules for the Product Category of Construction Products, European Committee for Standardization, Brussels, Belgium, 2019.
- [24] V. Göswein, J.D. Silvestre, G. Habert, F. Freire, Dynamic assessment of construction materials in urban building stocks: a critical review, Environ. Sci. Technol. 53 (2019) 9992–10006, https://doi.org/10.1021/acs.est.9b01952.
- [25] S. García-Pérez, J. Sierra-Pérez, J. Boschmonart-Rives, Environmental assessment at the urban level combining LCA-GIS methodologies: a case study of energy retrofits in the Barcelona metropolitan area, Build. Environ. 134 (2018) 191–204, https://doi.org/10.1016/J.BUILDENV.2018.01.041.
- [26] N. Heeren, M. Jakob, G. Martius, N. Gross, H. Wallbaum, A component based bottom-up building stock model for comprehensive environmental impact assessment and target control, Renew. Sustain. Energy Rev. 20 (2013) 45–56, https://doi.org/10.1016/J.RSER.2012.11.064.
- [27] C.S. Monteiro, Building Energy Modeling at Urban Scale Using Multi-Detail Archetypes: Addressing the Uncertainties and Applications, Doctoral dissertation, Universidade de Lisboa, Instituto Superior Técnico, 2018, https://www.ulisboa.pt/ prova-academica/building-energy-modeling-urban-scale-using-multi-detail-arch etypes-addressing.
- [28] D.P. Abreu, K. Velasquez, A.M. Pinto, M. Curado, E. Monteiro, Describing the Internet of Things with an ontology: the SusCity project case study, in: 2017 20th Conference on Innovations in Clouds, Internet and Networks (ICIN), 2017, pp. 294–299, https://doi.org/10.1109/ICIN.2017.7899427.
- [29] C. Costa, M.Y. Santos, The SusCity big data warehousing approach for smart cities, in: Proceedings of the 21st International Database Engineering & Applications Symposium, Association for Computing Machinery, Bristol, United Kingdom, 2017, pp. 264–273, https://doi.org/10.1145/3105841.
- [30] C.S. Monteiro, A. Pina, C. Cerezo, C. Reinhart, P. Ferrão, The use of multi-detail building archetypes in urban energy modelling, Energy Procedia 111 (2017) 817–825, https://doi.org/10.1016/j.egypro.2017.03.244.
- [31] K. Benis, I. Turan, C. Reinhart, P. Ferrão, Putting rooftops to use a Cost-Benefit Analysis of food production vs. energy generation under Mediterranean climates, Cities 78 (2018) 166–179, https://doi.org/10.1016/j.cities.2018.02.011.
- [32] C.S. Monteiro, C. Costa, A. Pina, M.Y. Santos, P. Ferrão, An urban building database (UBD) supporting a smart city information system, Energy Build. 158 (2018) 244–260, https://doi.org/10.1016/j.enbuild.2017.10.009.

- [33] ADENE, Implementing the Energy Performance of Buildings Directive (EPBD) 2016, Co-funded under the Intelligent Energy - Europe Programme of the European Union, 2015. http://www.buildup.eu/en/practices/publications/2016-implemen ting-epbd-featuring-country-reports-0.
- [34] Passivhaus Portugal, Claiming the Passivhaus Standard (In Portuguese), Associação Passivhaus Portugal, Ílhavo, Portugal, 2019. http://www.passivhaus.pt/download /20190726_Reivindicar_a_Norma_Passivhaus_v.pdf. (Accessed 6 May 2020).
- [35] Statistics Portugal, Construction and Housing Statistics Edition 2020 (In Portuguese), Instituto Nacional de Estatística, Lisbon, Portugal, 2019. https ://www.ine.pt/xportal/xmain?xpid=INE&xpgid=ine_publicacoes&PUBLICAC OESpub_boui=443821545&PUBLICACOESmodo=2. (Accessed 30 July 2020).
- [36] A. Rito, More than 300 Buildings Demolished in Lisbon during Ten Years (In Portuguese), Expresso, 2020, https://expresso.pt/economia/2020-03-22-Mais-de -300-edificios-demolidos-em-Lisboa-em-10-anos. (Accessed 30 July 2020).
- [37] R. Pasker, The European ETICS Market Do ETICS Sufficiently Contribute to Meet Political Objectives?, 2017. https://www.ea-etics.eu/files/dokumente-eae/4_E TICS Forum/ETICS Forum_2017/06_European_ETICS Forum_2017_European_E TICS Market_Pasker_final_2017-10-03.pdf. (Accessed 5 June 2020).
- [38] F. Lattke, S.J. Ott, V. Cronhjort, TES EnergyFaçade Prefabricated Timber Based Building System for Improving the Energy Efficiency of the Building Envelope. Research Project from 2008-2009, TU Munich, Munich, Germany, 2011.
- [39] J.D. Silvestre, N. Pargana, J. de Brito, M.D. Pinheiro, V. Durão, Insulation cork boards - environmental life cycle assessment of an organic construction material, Materials 9 (2016) 394, https://doi.org/10.3390/ma9050394.
- [40] L. Gil, Cork as a Building Material Technical Manual, APCOR Portuguese Cork Association, 2015. http://www.apcor.pt/wp-content/uploads/2015/07/Caderno _Tecnico_F_EN.pdf.
- [41] J. Aronson, J.S. Pereira, J.G. Pausas, Cork Oak Woodlands on the Edge: Ecology, Adaptive Management, and Restoration, first ed., Island Press, Washington, DC, 2009. http://citeseerx.ist.psu.edu/viewdoc/download?doi=10.1.1.732.5454&re p=rep1&type=pdf.
- [42] K. Höglmeier, B. Steubing, G. Weber-Blaschke, K. Richter, LCA-based optimization of wood utilization under special consideration of a cascading use of wood, J. Environ. Manag. 152 (2015) 158–170, https://doi.org/10.1016/j. jenvman.2015.01.018.
- [43] J. Mehr, C. Vadenbo, B. Steubing, S. Hellweg, Environmentally optimal wood use in Switzerland—investigating the relevance of material cascades, Resour. Conserv. Recycl. 131 (2018) 181–191, https://doi.org/10.1016/j.resconrec.2017.12.026.
- [44] Amorim Isolamentos, S+A Green Lab, Environmental Product Declaration of Expanded Insulation Corkboard Produced by Amorim Isolamentos S.A. (In Portuguese), DAPHabitat, 2016. http://daphabitat.pt/?page_id=2152. (Accessed 27 January 2017).
- [45] CEIFA ambiente, environmental product declaration of expanded insulation corkboard produced by SOFALCA Lda (In Portuguese), DAP Habitat. (2015).
- [46] E. Antonatus, Fire safety of etics with EPS material properties and relevance for fire safety during transport, construction and under end use conditions in external thermal insulation component systems, in: MATEC Web of Conferences 9, 2013, 02008, https://doi.org/10.1051/matecconf/20130902008.
- [47] C. Körner, A matter of tree longevity, Science 355 (2017) 130–131, https://doi. org/10.1126/science.aal2449.
- [48] F. Cherubini, G.P. Peters, T. Berntsen, A.H. Strømman, E. Hertwich, CO2 emissions from biomass combustion for bioenergy: atmospheric decay and contribution to global warming, GCB Bioenergy 3 (2011) 413–426, https://doi.org/10.1111/ j.1757-1707.2011.01102.x.
- [49] B. Seely, C. Welham, H. Kimmins, Carbon sequestration in a boreal forest ecosystem: results from the ecosystem simulation model, FORECAST, For. Ecol. Manag. 169 (2002) 123–135, https://doi.org/10.1016/S0378-1127(02)00303-1.
 [50] M. Demertzi, J.A. Paulo, S.P. Faias, L. Arroja, A.C. Dias, Evaluating the carbon
- [50] M. Demertzi, J.A. Paulo, S.P. Faias, L. Arroja, A.C. Dias, Evaluating the carbon footprint of the cork sector with a dynamic approach including biogenic carbon flows, Int. J. Life Cycle Assess. 23 (2018) 1448–1459, https://doi.org/10.1007/ s11367-017-1406-8.
- [51] R. Guine de Pinho Ferreira, P.M. dos Reis Correia, Engineering Aspects of Cereal and Cereal-Based Products, CRC Press, 2016, https://doi.org/10.1201/b15246.
- [52] S.C. Thomas, A.R. Martin, Carbon content of tree tissues: a synthesis, Forests 3 (2012) 332–352, https://doi.org/10.3390/f3020332.
- [53] L. Gil, CO2 capture of cork stoppers (In Portuguese: A fixação de CO2 proporcionada pelas rolhas de cortiça), 2004.
- [54] Ecoinvent, Ecoinvent the world's most consistent & transparent life cycle inventory database. https://www.ecoinvent.org/home.html. (Accessed 19 January 2021).
- [55] R. Gomes, J.D. Silvestre, J. de Brito, Environmental life cycle assessment of the manufacture of EPS granulates, lightweight concrete with EPS and high-density EPS boards, J. Build. Eng. 28 (2020), 101031, https://doi.org/10.1016/j. jobe.2019.101031.
- [56] J.D. Silvestre, J. de Brito, M.D. Pinheiro, From the new European Standards to an environmental, energy and economic assessment of building assemblies from cradle-to-cradle (3E-C2C), Energy Build. 64 (2013) 199–208, https://doi.org/ 10.1016/j.enbuild.2013.05.001.
- [57] J.D. Silvestre, J. de Brito, M.D. Pinheiro, Life-cycle impact 'cradle to cradle' of building assemblies, Proc. Inst. Civil Eng. - Eng. Sustain. 167 (2014) 53–63, https://doi.org/10.1680/ensu.13.00005.
- [58] J.D. Silvestre, A.M.P. Castelo, J.J.B.C. Silva, J.M.C.L. de Brito, M.D. Pinheiro, Retrofitting a building's envelope: sustainability performance of ETICS with ICB or EPS, Appl. Sci. 9 (2019) 1285, https://doi.org/10.3390/app9071285.

- [59] INE, Construction and Housing Statistics 2019 Edition (In Portuguese), Instituto Nacional de Estatística, Lisbon, Portugal, 2018. https://www.ine.pt/ngt_serve r/attachfileu.jsp?look_parentBoui=382302601&att_display=n&att_download=y.
- [60] G. Habert, M. Röck, K. Steininger, A. Lupisek, H. Birgisdottir, H. Desing, C. Chandrakumar, F. Pittau, A. Passer, R. Rovers, K. Slavkovic, A. Hollberg, E. Hoxha, T. Jusselme, E. Nault, K. Allacker, T. Lützkendorf, Carbon budgets for buildings: harmonising temporal, spatial and sectoral dimensions, Build. Cities 1 (2020) 429–452, https://doi.org/10.5334/bc.47.
- [61] APA, Preliminary Results of the Carbon Neutrality Roadmap for 2050 RNC –2050 (In Portuguese), Agência Portuguesa do Ambiente, Lisbon, Portugal, 2018. http s://descarbonizar2050.pt/uploads/RNC2050_Sessao_publica_4dez2018.pdf. (Accessed 9 July 2020).
- [62] EU Calculator: Trade-offs and pathways towards sustainable and low-carbon European Societies, Transition Pathways Explorer, Potsdam Institute of Climate Impact Research and others, 2019. http://tool.european-calculator.eu/. (Accessed 13 May 2020).
- [63] IRENA, Global, Energy Transformation: A Roadmap to 2050, International Renewable Energy Agency, Abu Dhabi, 2018. www.irena.org/publications.
- [64] V. Zieger, T. Lecompte, A. Hellouin de Menibus, Impact of GHGs temporal dynamics on the GWP assessment of building materials: a case study on bio-based and non-bio-based walls, Build. Environ. 185 (2020), 107210, https://doi.org/ 10.1016/j.buildenv.2020.107210.
- [65] K. Negishi, A. Lebert, D. Almeida, J. Chevalier, L. Tiruta-Barna, Evaluating climate change pathways through a building's lifecycle based on Dynamic Life Cycle Assessment, Build. Environ. 164 (2019), 106377, https://doi.org/10.1016/j. buildenv.2019.106377.
- [66] E. Hoxha, A. Passer, M.R.M. Saade, D. Trigaux, A. Shuttleworth, F. Pittau, K. Allacker, G. Habert, Biogenic carbon in buildings: a critical overview of LCA methods, Build. Cities 1 (2020) 504–524, https://doi.org/10.5334/bc.46.
- [67] F. Pomponi, J. Hart, J.H. Arehart, B. D'Amico, Buildings as a global carbon sink? A reality check on feasibility limits, One Earth 3 (2020) 157–161, https://doi.org/ 10.1016/j.oneear.2020.07.018.
- [68] S. Hellweg, T.B. Hofstetter, K. Hungerbuhler, Discounting and the environment should current impacts be weighted differently than impacts harming future generations? Int. J. LCA 8 (2003) 8, https://doi.org/10.1007/BF02978744.
- [69] BPIE, Covid-19 Recovery: Investment Opportunities in Deep Renovation in Europe, Buildings Performance Institute Europe, 2020. Brussels, Belgium, http://bpie.eu/w p-content/uploads/2020/05/Recovery-investments-in-deep-renovation_BPIE_2020 .pdf. (Accessed 26 June 2020).
- [70] dena, Serial Deep Renovation of Multi-Family Buildings (In German), Deutsche Energie-Agentur, Berlin, Germany, 2018. https://www.dena.de/themen-projekte /projekte/gebaeude/serielles-sanieren-von-mehrfamilienhaeusern/. (Accessed 26 June 2020).

- [71] DGEG, Long-term Strategy for Building Renovation (ELPRE) (In Portuguese), Direção Geral de Energia e Geologia, Portugal, 2020. https://participa.pt/conte nts/consultationdocument/ELPREconsultapublica.pdf. (Accessed 9 July 2020).
- [72] BPIE, Policy Brief Promoting Large-Scale Industrial Renovation Projects (In German), Buildings Performance Institute Europe, Berlin, Germany, 2020. htt p://bpie.eu/wp-content/uploads/2020/04/UBA-Policy-Briefing-Factsheet3-merge d_v7-final.pdf. (Accessed 26 June 2020).
- [73] G.P. Peters, R.M. Andrew, S. Solomon, P. Friedlingstein, Measuring a fair and ambitious climate agreement using cumulative emissions, Environ. Res. Lett. 10 (2015), 105004, https://doi.org/10.1088/1748-9326/10/10/105004.
- [74] C.L. Quéré, R.M. Andrew, J.G. Canadell, S. Sitch, J.I. Korsbakken, G.P. Peters, A. C. Manning, T.A. Boden, P.P. Tans, R.A. Houghton, R.F. Keeling, S. Alin, O. D. Andrews, P. Anthoni, L. Barbero, L. Bopp, F. Chevallier, L.P. Chini, P. Ciais, K. Currie, C. Delire, S.C. Doney, P. Friedlingstein, T. Gkritzalis, I. Harris, J. Hauck, V. Haverd, M. Hoppema, K. Klein Goldewijk, A.K. Jain, E. Kato, A. Körtzinger, P. Landschützer, N. Lefèvre, A. Lenton, S. Lienert, D. Lombardozzi, J.R. Melton, N. Metzl, F. Millero, P.M.S. Monteiro, D.R. Munro, J.E.M.S. Nabel, S. Nakaoka, K. O'Brien, A. Olsen, A.M. Omar, T. Ono, D. Pierrot, B. Poulter, C. Rödenbeck, J. Salisbury, U. Schuster, J. Schwinger, R. Séférian, I. Skjelvan, B.D. Stocker, A. J. Sutton, T. Takahashi, H. Tian, B. Tilbrook, I.T. van der Laan-Luijkx, G.R. van der Werf, N. Viovy, A.P. Walker, A.J. Wiltshire, S. Zaehle, Global carbon budget 2016, Earth Syst. Sci. Data 8 (2016) 605–649, https://doi.org/10.5194/essd-8-605-2016.
- [75] N. Evershed, Carbon Countdown Clock: How Much of the World's Carbon Budget Have We Spent? The Guardian, 2017. https://www.theguardian.com/environmen t/datablog/2017/jan/19/carbon-countdown-clock-how-much-of-the-worlds -carbon-budget-have-we-spent. (Accessed 25 June 2020).
- [76] IEA, Global Status Report for Buildings and Construction towards a Zero-Emissions, Efficient and Resilient Buildings and Construction Sector, Global Alliance for Buildings and Construction, International Energy Agency and the United Nations Environment Programme, 2019. https://webstore.iea.org/downl oad/direct/2930?fileName=2019_Global_Status_Report_for_Buildings_and_Constru ction.pdf.
- [77] INE, Resident Population (In Portuguese), Instituto Nacional de Estatística, Lisbon, Portugal, 2019. https://www.ine.pt/xportal/xmain?xpid=INE&xpgid=ine_indica dores&contecto=pi&indOcorrCod=0008273&selTab=tab0. (Accessed 25 June 2020).
- [78] S. Claude, S. Ginestet, M. Bonhomme, G. Escadeillas, J. Taylor, V. Marincioni, I. Korolija, H. Altamirano, Evaluating retrofit options in a historical city center: relevance of bio-based insulation and the need to consider complex urban form in decision-making, Energy Build. 182 (2019) 196–204, https://doi.org/10.1016/j. enbuild.2018.10.026.
- [79] H. Fu, Y. Ding, M. Li, H. Li, X. Huang, Z. Wang, Research on thermal performance and hygrothermal behavior of timber-framed walls with different external insulation layer: insulation Cork Board and anti-corrosion pine plate, J. Build. Eng. 28 (2020), 101069, https://doi.org/10.1016/j.jobe.2019.101069.